
 
Prove that: 

Ω = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)
= 𝑳𝒊𝟐 (

𝟏

𝟐
)

∞

𝒌=𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Mohammad Rostami-Afghanistan 

Ω = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

= ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐
(𝟏 + 𝒌𝟐)!

𝒌𝟐!

= ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐(𝟏 + 𝒌𝟐)
= ∑

(
𝟏
𝟐
)
𝒌

𝒌𝟐
=

∞

𝒌=𝟏

∞

𝒌=𝟏

∞

𝒌=𝟏

 

−∑(
𝟏

𝟐
)
𝒌

∫ 𝒙𝒌−𝟏 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

=

∞

𝒌=𝟏

−∫
𝐥𝐧⁡(𝒙)

𝒙
∑ (

𝒙

𝟐
)
𝒌

𝒅𝒙 = −∫
𝐥𝐧⁡(𝒙)

𝒙

𝒙
𝟐

𝟏 −
𝒙
𝟐

𝒅𝒙 =
𝟏

𝟎

∞

𝒌=𝟏

𝟏

𝟎

 

−∫
𝐥𝐧(𝒙)

𝟐 − 𝒙
𝒅𝒙 = −∫

𝐥𝐧(𝟏 − 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

⁡⁡{𝒙 =
𝟏 − 𝒕

𝟏 + 𝒕
⁡,

𝒅𝒙 =
−𝟏 − 𝒕 − 𝟏 + 𝒕

(𝟏 + 𝒕)𝟐
𝒅𝒕 → 𝒅𝒙 = −

𝟐

(𝟏 + 𝒕)𝟐
𝒅𝒕} 

Ω = −∫
𝐥𝐧 (𝟏 −

𝟏 − 𝒕
𝟏 + 𝒕

)

𝟏 +
𝟏 − 𝒕
𝟏 + 𝒕

−𝟐

(𝟏 + 𝒕)𝟐
𝒅

𝟏

𝟎

𝒕 = ∫
𝐥𝐧(𝟏 + 𝒕) − 𝐥𝐧(𝟐) − 𝐥𝐧⁡(𝒕)

𝟏 + 𝒕
𝒅𝒕 =

𝟏

𝟎

 

∫
𝐥𝐧⁡(𝟏 + 𝒕)

𝟏 + 𝒕
𝒅𝒕 − 𝐥𝐧⁡(𝟐)∫

𝟏

𝟏 + 𝒕
𝒅𝒕 −∫

𝐥𝐧⁡(𝒕)

𝟏 + 𝒕
𝒅𝒕⁡, 𝐥𝐧(𝟏 + 𝒕) = 𝒖

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

= ∫ 𝒖𝒅𝒖− 𝐥𝐧(𝟐) [𝐥𝐧(𝟏 + 𝒕)]|
𝟏

𝟎
−∫ ∑(−𝒕)𝒏

𝝏

𝝏𝒂
|
𝒂=𝟎

𝒕𝒂𝒅𝒕 = [
𝒖𝟐

𝟐
]|
𝐥𝐧⁡(𝟐)

𝟎
− 𝒍𝒏𝟐(𝟐) −

∞

𝒏=𝟎

𝟏

𝟎

𝐥𝐧(𝟐)

𝟎

 

∑(−𝟏)𝒏
𝝏

𝝏𝒂
|
𝒂=𝟎

∫ 𝒕𝒏+𝒂
𝟏

𝟎

𝒅𝒕 =
𝒍𝒏𝟐(𝟐)

𝟐
− 𝒍𝒏𝟐(𝟐) −

∞

𝒏=𝟎

∑(−𝟏)𝒏
𝝏

𝝏𝒂
|
𝒂=𝟎

𝟏

𝒏 + 𝒂+ 𝟏
=

∞

𝒏=𝟎

 

−
𝒍𝒏𝟐(𝟐)

𝟐
+∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

= −
𝒍𝒏𝟐(𝟐)

𝟐
+∑

(−𝟏)𝒏−𝟏

𝒏𝟐

∞

𝒏=𝟎

= −
𝒍𝒏𝟐(𝟐)

𝟐
+ 𝜼(𝟐) = 

−
𝒍𝒏𝟐(𝟐)

𝟐
+ (𝟏 − 𝟐−𝟏)𝜻(𝟐) = −

𝒍𝒏𝟐(𝟐)

𝟐
+
𝟏

𝟐
(
𝝅𝟐

𝟔
) =

𝝅𝟐

𝟏𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) = 𝑳𝒊𝟐 (

𝟏

𝟐
) 

 



 
Solution 2 by Bui Hong Suc-Vietnam 

Ω = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

 

Ω𝒂,𝒎,𝒏 = ∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎 (𝒃
𝟐+𝒌𝒏

𝒌𝒏
)

∞

𝒌=𝟏

= ∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎
(𝒃𝟐 + 𝒌𝒏)!
(𝒌𝒏)! (𝒃𝟐)!

∞

𝒌=𝟏

= 

(𝒃𝟐)!∑
𝒃𝟐 + 𝒌𝒏

𝒂𝒌𝒌𝒎
(𝒃𝟐 + 𝒌𝒏)(𝒌𝒏)!

(𝒌𝒏)!

∞

𝒌=𝟏

= (𝒃𝟐)!∑
𝟏

𝒂𝒌𝒌𝒎
= (𝒃𝟐)!∑

(
𝟏
𝒂
)
𝒌

𝒌𝒎
=

∞

𝒌=𝟏

∞

𝒌=𝟏

(𝒃𝟐)! 𝑳𝒊𝒎 (
𝟏

𝒂
) 

𝑳𝒆𝒕⁡⁡𝒂 = 𝟐⁡, 𝒃 = 𝟏⁡,𝒏 = 𝒎 = 𝟐 ∶⁡ 

Ω𝟐,𝟐,𝟐 = ∑
𝟏+ 𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

= (𝟏𝟐)!𝑳𝒊𝟐 (
𝟏

𝟐
) = 𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
𝟏

𝟐
𝒍𝒏𝟐(𝟐) 

∑
𝟏+𝒌𝟐

𝟐𝒌𝒌𝟐 (𝟏+𝒌
𝟐

𝒌𝟐
)

∞

𝒌=𝟏

= 𝑳𝒊𝟐 (
𝟏

𝟐
) 

 


